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Work the exam on the space provide

d below the problem. Work on one side of your paper only.
Problems 1 through 4 are 20% each.

Problem 5 is 10%. Take home problem is 10%.

(1) Determine the value of Vg in the opamp gircuit of Figure 1 so that Vo = -2 V.
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Figure 1: C1rcu1t for problem 1.
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(2) You are given the circuit shown in Figure 2.

(2) Find the Thevenin equivalent circuit, with respect to terminals a-b. :

(b) Draw the Thevenin equivalent circuit: include Vy and Rry.

(c) What resistor placed between terminals a-b will give maximum power

Transfer to this resistor? Determine the value of this power.
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Figure 2: Circuit for problem 2.
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(3) You are given the circuit of Figure 3. !
(a) Find the Norton equivalent circuit with respect to terminals a-b. You are required to
find InorTon by actually finding the short circuit current.
(b) Draw your Norton equivalent circuit showing the InorTon, Ry and terminals a-b.
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Figure 3: Circuit for problem 3.
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(4) You are given the circuit of Figure 4.
(a) Give the value of the Thevenin voltage seen looking into terminals a-b.
(b) Determine the resistance Ry seen looking into terminals a-b.
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Figure 4: Circuit for problem 4.
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(5) Find the voltage across each capacitor in the circuit show in in Figure 5.
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Figure 5: Circuit for problem 5.
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